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QUESTION 1

A network administrator notices that a few virtual machines run slowly every morning. To troubleshoot the issue the
administrator needs to analyze the total traffic sent I virtual machines. Which feature would the administrator use for
troubleshooting? 

A. Virtual LANs 

B. Traffic Shaping 

C. NetFlow 

D. Port Mirroring 

Correct Answer: D 

Explanation: I would like to clarify few things in this blog entry about the Port-mirroring feature that is available on
vSphere Distributed Switch (VDS). This feature is similar to the port mirroring capability available on the physical
switches. Network administrators can use this feature to troubleshoot any network related issues in the virtual
infrastructure and monitor virtual_machine-to-virtual_machine traffic that is flowing on the same ESXi host. Network
administrators use network analyzer tool, which captures traffic, along with the port mirror feature to perform monitoring
and troubleshooting activities. In the physical network, depending on where the analyzer or debug tool is placed in the
network, network administrators choose different port mirroring options. The following are some of the standard port
mirroring options available on physical switches Reference:http://blogs.vmware.com/vsphere/2012/06/how-to-use-port-
mirroring-feature-ofvds-for-monitoring-virtual-machine-traffic.html 

 

QUESTION 2

After creating virtual machine backups using vSphere Data Protection, you decide to perform a simple verification of
those backups. Which feature will you use for this? 

A. vSphere Replication 

B. Changed Block Tracking 

C. VMware Tools heartbeat 

D. Verification scripts 

Correct Answer: C 

Explanation: VMware Tools heartbeat, used for simple verification Reference:
http://blogs.vmware.com/vsphere/files/2013/12/ABV_technical_white_paper.pdf 

 

QUESTION 3

What are two advantages of using vSphere Data Protection In a data center? (Choose two.) 

A. Creates new virtual machines. 

B. Migrates virtual machines. 
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C. Ensures minimum impact on network bandwidth. 

D. Provides increased backup data capacity. 

Correct Answer: AC 

 

QUESTION 4

What are two features of vSphere 6.x that helpaddress the availability challenges that organizations face? (Choose
two.) 

A. Deploying from Templates 

B. Host Profiles 

C. High Availability 

D. Fault Tolerance 

Correct Answer: CD 

Explanation: 

VMware vSphere 6 will provide customers with a highly available, resilient, on-demand cloud infrastructure to run,
protect and manage any application VMware vSphere 6 appealing due to the new availability and fault tolerance
capabilities for 

protecting applications on-premises. 

Reference: http://www.vmware.com/company/news/releases/vmw-newsfeed/Introducing- VMware-vSphere-6---The-
Foundation-for-Hybrid-Cloud/1920294 

 

QUESTION 5

Which two statements about virtual switches in vSphere 6.x virtual networking are true? (Choose two) 

A. Monitors metadata about communications that occur in a network. 

B. Creates isolated networks for testing and development. 

C. Attaches virtual machines to the physical network. 

D. Performs load balancing. 

Correct Answer: CD 

Reference: https://www.virtualbox.org/manual/ch06.html 
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